

AP solution

(HW # 8)

(AP) (a)) First of all $y = y_0 + y_p$ solve $T(y) = f$

BECAUSE $T(y) = T(y_0 + y_p) = \underbrace{T(y_0)}_0 + \underbrace{T(y_p)}_f = f$

) NOW IF y SOLVES $T(y) = f$ AND y_p IS GIVEN

DEFINE $y_0 = y - y_p$, THEN

$$T(y_0) = T(y - y_p) = \underbrace{T(y)}_f - \underbrace{T(y_p)}_f = f - f = 0$$

so y_0 SOLVES $T(y_0) = 0$

FINALLY, $y_0 = y - y_p \Rightarrow y = y_0 + y_p \checkmark$

$$(b) T(y_1 + cy_2) = (y_1 + cy_2)'' - 5(y_1 + cy_2)' + 6(y_1 + cy_2)$$

$$= y_1'' + cy_2'' - 5y_1' - 5cy_2' + 6y_1 + 6cy_2$$

$$= (y_1'' - 5y_1' + 6y_1) + c(y_2'' - 5y_2' + 6y_2)$$

$$= T(y_1) + cT(y_2) \checkmark$$

$$(c) T(y) = 0 \Rightarrow y'' - 5y' + 6y = 0$$

AVA $\Gamma^2 - 5\Gamma + 6 = 0 \Rightarrow (\Gamma - 2)(\Gamma - 3) = 0 \Rightarrow \Gamma = 2, \Gamma = 3$